cmatic

PNEUMATIC FITTINGS

MXFRFIMR 35 L #5159 316L(1.4404) FEEM |, ATMAMEET BELT
REANTENAZE.

MX LINE

316L N EF M IRk
316L Stainless Steel Push-in Fittings

Certified to
NSF/ANSI 169

The push-in Fitting of the MX line are entirely made of AISI316L (1.4404)and allow
for connections in environments and applications, where any standard fitting would

be incompatible for use.




m__

RESFERIR = XER R BHE
Body and Release Ring Gripping collet Holding Ring Protection Ring Seals
Bague protection
SchutzRing
AISI 316LTE4(1.4404) AISI 301 &4 AIS| 316LTEE4(1.4404) AISI 316L 554 (1.4404) FPM
Stainless Steel AISI 316L (1.4404) Stainless steel AlSI 301 Stainless Steel AISI 316L (1.4404) Stainless Steel AISI 316L (1.4404) FPM

L @

©

-20°C-180°C &% K20 bar -99 KPa
Mb5x0.8 G1/8  G1/4  G3/8  G1/2 R1/8 R1/4 R3/8 R1/2
4 ° ° ° ° °
C 6 ° ° ° ° °
w 8 ° ° ° °
g% 10 ° °
12 ° °
AR DATA SHEET
BUWEEER

PVDFE&, PTFEE, THRE (XTEEENWER , SNERHEA )

AESHNERAE
+/-0.07 mm , ZRAER 10 mm
+-0.1mm , EERM10E12 mm,

R

SE. 'R, LFE. BT RIETL.

Recommended tubings:

Acceptable Tolerances on the tubings:
+/—0.07 mm up to 10 mm.
+/— 0.1 mm from diam 10 up to 12 mm.

Application fields:

PVDF, PTFE and Stainless steel tubes (for metal hose assembly see the instructions above).

Pneumatics, Food Industry, Chemical, Medical and Pharmaceutical Industry.

90



BRI ARE Tubing insertion depth

L BHRDe L
4 132

6 16.1

8 16.2

10 18.3

Jl 12 195

B ASSEMBLY INSTRUCTIONS

1REREBYE (ERATCUTERY ) WIANABEEEER , FEDIEE 1. Cut the tube square (by means of a hose cutter i.e. our TCUT) making sure that no burrs are

BRERSHEMER. CRAEEKERN , EEELITHRE (TINC) & left and that the tube is not oval.

ERLTE, AERITEEZRERER , MRIUETRENIEE, In case of use with metal hoses, make a groove all around the tube diameter with a suitable
tool (TINC).The groove must be made according to the tube diameter so that the fitting col-
lect can better grip onto it.

2 BRI AL, SRR L, 2. Insert the tube into the fitting until it bottoms.
KRB Tube release
BEERERBES , AR EERET, While pressing on the release ring, pull out the tube from the fitting.

SEEEES , FRRER L REIND ; A, FERAEREENR Once the tubing is connected to the fitting, make sure that the tubing is not subject

& NEHERFESREMEIBTZHAE. & to any tensile strength and that the min. recommended bending radius stated in the
— ATEBEERBNLE , EAMEIITEZMARRIN. ERERBER —— tubing section of this catalogue is complied with (see page 335).

FE@EAD , BEMES , HUESREREANLE. To prevent any accidental tube release, no components have to come in touch with

RO RN B EEATIHNEVIHE, the release ring and exercise any unwanted pressure on the same. Indeed however lateral, any

load on the release ring may cause the tube disconnection.
To tighten threads, please check out our tightening torque chart illustrated at page 6.



HIRGBEEEL Taper Straight, male
B3] ERQe D1 D2 L1 L2 CH1 CH2 g &2
 — 110418 4 R1/8 9 75 155 10 3 6.3
= 110414 4 R1/4 9 11 20 14 3 16.1
110618 6 R1/8 12 75 205 12 4 95
CH1 \ 110614 6 R1/4 12 1 20 14 4 143
- JED 110818 8 R1/8 14 75 245 14 6 135
- m— 110814 8 R1/4 14 1 23 14 6 14.4
= L 111014 10 R1/4 16 11 30 16 8 20.3
CH? 111038 10 R3/8 16 15 235 17 8 215
D1 111238 12 R3/8 19 15 27 18 10 25.7
o] 111212 12 R1/2 19 14 27 2 10 421
BEIRGEEEL Parallel Straight, male
E3id) ERDe D1 D2 D3 L1 L2 CH1 CH2 g 62
D2 1204M5 4 M5x0.8 9 8 4 19 9 - 49
. 120418 4 G1/8 9 13 5 16 13 3 8.1
1206 M5 6 M5x08 12 8 4 225 12 : :
o 120618 6 G1/8 12 13 5 19 13 4 95
| 120614 6 G1/4 12 16 6.5 185 16 4 15.8
o 120818 8 G1/8 14 13 5 225 14 3 128
:f 120814 8 G1/4 14 16 6.5 21 16 6 155
I~ _CH? 121014 10 G1/4 16 16 6.5 275 16 8 192
121038 10 G3/8 16 20 7 25 17 8 244
0 121238 12 G3/8 19 20 7 285 21 10 318
D3 (] 121212 12 G2 19 25 85 265 2 10 K
AIRSUE B K Female Straight
B3l ERDe D1 D2 L1 L2 CH g 8D
D2
oo 130418 4 G1/8 9 7 245 13 118
] 130618 6 G1/8 12 7 265 13 16.1
: ; 1306 14 6 G1/4 12 10 31 16 225
130818 8 G1/8 14 7 265 14 19.1
o 130814 8 G1/4 14 10 31 16 245
o = 130838 8 G3/8 14 11 325 21 36.3
131014 10 G1/4 16 10 33 16 26.2
- 131038 10 G3/8 16 11 345 21 40
- 131012 10 G1/2 16 11 355 24 436
131238 12 G3/8 19 11 355 21 476
o o 131212 12 G1/2 19 1 36.5 24 52
MX 14
HNBRBEEEL Taper Elbow Fitting, male
il ERDe D1 D2 L1 L2 L3 g &2
5 140418 4 R1/8 9 75 16 17 102
1406 18 6 R1/8 12 75 16 20 14
i 140614 6 R1/4 12 11 20 20 208
_ 31 o 140818 8 R1/8 14 75 17 21 196
- 140814 8 R1/4 14 11 20 21 223
5 141014 10 R1/4 16 11 225 255 395

D1

92



AAEEMIAEEEL Taper Swivelling Elbow Fitting, male
et ERJe D1 D2 L1 L2 L3 CH g 60
= 150418 4 RSB 9 75 175 17 10 108
. 1506 18 6 RIB 12 75 20 215 13 2.2
) §l o 1506 14 6 RIA 12 1 % 215 14 25.2
o i 150818 8 RIE 14 75 20 2 13 222
: 150814 8 RI/A 14 11 2 2 14 26.3
3 151014 10 RI/A 16 1 26.5 255 16 375
_ 151038 10 R3/8 16 1.5 27 255 17 411
151238 12 R38 19 15 305 28 21 65.1
D1 [owrome] 151212 12 R1/2 19 14 335 28 22 715
A EEMRIAEEEL Parallel Swivelling Elbow Fitting, male
; E$id] BHRDe D1 D2 L1 L2 L3 CH g &2
16 04 M5 4 M5x08 9 4 14 17 9 87
i[5 160418 4 Gl/s 9 5 16 17 13 12.2
gl a 16 06 M5 6 M5x08 12 4 155 205 9 132
l 160618 6 G812 5 18 215 13 203
1606 14 6 G4 12 6.5 20 215 16 243
160818 8 G814 5 18 2 13 216
160814 8 G4 14 6.5 20 2 16 258
161014 10 G4 16 6.5 225 255 16 346
161038 10 G38 16 7 2 255 21 ]
161238 12 G319 7 265 28 21 59.5
161212 12 G2 19 85 31 28 2 69.2
Al A IRSUE TR = E gk Swivelling Tee Fitting, taper
Egid] BHFRDe D1 D2 L1 L2 L3 CH g &2
13 200418 4 RSB 9 75 215 34 10 16.1
] | 2006 18 6 RIB 12 75 245 42 13 303
) ﬂ o 200614 6 RIA 12 1 285 2 14 339
8 ° 200818 8 RIE 14 75 245 43 13 32.2
) 8

L2

2008 14 RIA 14 1 85 43 14 354
LEJTFFH 201014 10 R4 16 1 2 50 16 61
201038 10 R8 16 115 325 50 17 64.1

COMPONENT

L1

D1

A EIRSUE TR = EiEk Swivelling Tee Fitting, parallel
B3] EROe D1 D2 L1 L2 L3 CH g4
> ! 2104 M5 a M5x08 9 7 18 3 9 1

- 210418 4 G189 5 2 34 13 1756

L | o 210618 6 G1/8 12 5 225 42 13 292

E 210614 6 Gl/a 12 65 25 42 16 333

210818 8 G158 14 5 25 43 13 30.7

S cH 210814 8 G1/4 14 6.5 245 43 16 348

~ 211014 10 G4 16 65 %5 50 16 57.1

- — 211038 10 G338 16 7 7 50 2 63.9

93



ek 4 N
AR Reducer
E¥idl ERDe D1 D2 L1 g 5D
2504 06 4 6 9 31 6.5
2506 08 6 ] 12 33 19
— 250810 8 10 14 345 14.8
XEE Sk Union
—D02 B3] ER10e E1%20e D2 L1 g6
F—ﬂw 260404 4 4 9 27 78
—— 26 06 06 6 6 12 325 15.7
‘ 26 06 04 6 4 12 31 155
2608 08 8 ] 14 33 195
- [j 2608 06 8 6 14 34 223
261010 10 10 16 375 249
! 261212 12 12 19 395 40
0629
R EEE L Bulkhead Union
D2 Bl EHRZDe D2 L1 L3g&x CH g 5D
. 02, 2704 04 4 M12x1 27 11 15 19.9
% 2706 06 6 Mi4x1 325 16 17 314
| 270808 8 Mi6x1 33 17 19 36.8
271010 10 Mi8x1 375 19 21 484
" o o 211212 12 M20x1 395 20 24 618
P8P,
B AN EEL Union Elbow
L HKH ERDe D2 L1 g 42
- 280404 4 g 17 17
W 31 28 06 06 6 12 20 18
ﬂi S 2808 08 8 14 21 241
281010 10 16 25 43
= ‘ (] 281212 12 19 27 493

D2

94



ETH =\ ik Union Tee
D el ERQe D2 L1 L2 g 60
y 2904 04 4 9 17 34 146
[ ] 29 06 06 6 12 20 40 29.9
N S 2908 08 8 14 21 42 324
A 291010 10 16 25 50 56.1
S 291212 12 19 2 54 659
D2
BREEERE Simple Screw
CH
EJ: :[J il D1 L1 L2 L3 CH g 52
T T 310018 G1/8 6 25 29 14 15.1
Gl 310014 G1/4 65 275 325 17 26.1
Sl NS 310038 G387 30 36 21 44.2
(o] 310012 G1/2 8.5 355 15 26 80
=l |
D1
BBRIEEL AR Single Banjo Ring
B3l EEe D1 D2 D3 L1 L2 g &2
350418 4 18 9 14 15 195 13.1
L2 350618 6 18 12 14 15 2 16.
350614 6 1/4 12 18 17 235 187
/. 350818 8 18 14 14 15 225 16.6
-4 ) % . 3508 14 8 1/4 14 18 17 24 204
S S 351014 10 1/4 14 18 17 27 23
Q 351038 10 3/8 16 2 20 29 354
o1 351238 12 3/8 16 2 20 31 47
D3 351212 12 12 19 26 24 33 53.4

95





